

				Vendor	Ranking				Page 1 of 1	
Letti	ing:	08210608	June 08, 2021 02:30 PM	Call Order	r: 006		Contract:	E8T28		_
Dist	rict:	Turnpike		Counties:		ARD, MARTIN,	Fed Aid No:	: N/A		
	tract Time: tract Desc:	90 CALEND RAMP SPE	AR DAYS ED FEEDBACK SIGN INSTAL	LATION		DADE, PALM I, ST LUCIE, PIKE	Project(s):	19077315238	(*)	
Rank	ĸ		Vendor	Bi	d Type	Bid Status	٦	Fotal Bid	Percent Of Low Bid	
1	RTECH EN	IGINEERING	, LLC	Res	sponsive	Winning bid		\$335,699.70	100.00% lr	itent to AWARD
2	ARC ELEC	TRIC INC		Res	sponsive	Non-Winning Bid		\$343,434.34	102.30%	
3	HORSEPO	WER ELECT	RIC, INC.	Res	sponsive	Non-Winning Bid		\$389,389.00	115.99%	
4	SIGNAL TE	ECHNOLOGY	AND INSTALLATION	Res	sponsive	Non-Winning Bid		\$431,817.25	128.63%	

CORP.

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 22, 2021, 4:00 PM



	Tabulation of Bids							
Letting:	08210608	June 08, 2021	Call Order:	006	Contract:	E8T28		
District:	Turnpike		Counties:	BROWARD, MARTIN,	Fed Aid No	: N/A		
Contract Time:	90 CALEND	AR DAYS		MIAMI-DADE, PALM	Project(s):	19077315238 (*	)	
Contract Desc	RAMP SPE	ED FEEDBACK SIGN INS	STALLATION	BEACH, ST LUCIE, TURNPIKE				

TURNPIKE The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to furnish and install highlighted Driver Speed Feedback Signs (DSFS), with 18" display, along with other ramp speed warning signs as shown in the plans, at various locations on the Homestead Extension of Florida's Turnpike (SR 821), Milepost (MP) 8.0 to 32.0, Florida's Turnpike (SR 91), MP 2.0x to 153.0, and Sawgrass Expressway (SR 869), MP 10.5 to 22.0.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

#### NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternat Item Description	e Quantity Units	(1) RTECH ENGI	NEERING, LLC	(2) ARC ELE			VER ELECTRIC, IC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
0005 0101 1 MOBILIZATION	(1.000) LS	22,869.70000	22,869.70	37,884.34000	37,884.34	24,679.00000	24,679.00
0010 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	25.000 AS	353.00000	8,825.00	850.00000	21,250.00	357.00000	8,925.00
0015 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	2.000 AS	1,130.00000	2,260.00	1,200.00000	2,400.00	1,200.00000	2,400.00
0020 0700 1 50 SINGLE POST SIGN, RELOCATE	3.000 AS	220.00000	660.00	550.00000	1,650.00	325.00000	975.00
0025 0700 1 60 SINGLE POST SIGN, REMOVE	17.000 AS	55.00000	935.00	250.00000	4,250.00	30.00000	510.00



				1	abulation of Bio	ls			Page 2 of 4
Letting:	08210	)608 Ju	ne 08, 2021	Ca	Il Order: 006		Contract:	E8T28	
Line No / Item Des		Alternate	Quantity Units	(1) RTECH ENG	INEERING, LLC	(2) ARC ELE		· · /	WER ELECTRIC, NC.
() indicate	es item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 00	D1 (N	AINTENANC	E SUPPORT SER	VICES (MH				
ELECTRONI & INSTALL C	00 11232 IC DISPLAY S GROUND MOU EED FEEDBA	JNT- SOLAR		13,050.00000	300,150.00	12,000.00000	276,000.00	15,300.00000	351,900.00
0001 MAIN	TENANCE SU SERVICE		tion Totals:		\$335,699.70		\$343,434.34		\$389,389.00

Contract Grand Totals:

\$335,699.70

\$343,434.34

34

389,389.00



			Т	abulation of Bi	ds			Page 3 of 4
Letting:	08210608 Jເ	une 08, 2021	Cal	I Order: 006		Contract:	E8T28	
	lo / Item ID Alternate Description	Quantity Units	(4) SIGNAL TE AND INSTALLA					
( ) indic	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (I	MAINTENANCI	E SUPPORT SER	VICES (MH				
0005 ( MOBILIZA	0101_1 ATION	(1.000) LS	12,845.00000	12,845.00				
SINGLE P	0700 1 11 POST SIGN, F&I GROUND UP TO 12 SF	25.000 AS	547.40000	13,685.00				
	0700 1 12 POST SIGN, F&I GROUND 12-20 SF	2.000 AS	1,867.78000	3,735.56				
	0700 1 50 POST SIGN, RELOCATE	3.000 AS	347.03000	1,041.09				
	0700 1 60 POST SIGN, REMOVE	17.000 AS	43.07000	732.19				
ELECTRC & INSTAL	0700 11232 DNIC DISPLAY SIGN, FURNIS L GROUND MOUNT- SOLAR SPEED FEEDBACK, 12-20 S	2	17,381.67000	399,778.41				
0001 MA	INTENANCE SUPPORT Sec SERVICES (MH)	tion Totals:		\$431,817.25				

Contract Grand Totals:

\$431,817.25



ion of Bi	Tabulati	ids	Page
r: 006	e 08, 2021 Call Order	Contract:	E8T28
	NOTE: Failure to file a protest v 120.57(3), Florida Statutes, or i	e time prescribed in section post the bond or other security	
failure to	120.57(3), Florida Statutes, or i	•	

required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.